### **UNIVERSITY OF MISSOURI - Columbia**

### **Tuition Rates**

### Beginning with the 2018 Fall Session May 21, 2018

TUITION					2017-2018 RATES		9 RATES		
Student Level or Professional Program	Residence Status	Term Type	Plateau	Per Credit Hour Rate	Flat Rate	Per Credit Hour Rate	Flat Rate	Percentage Change	Dollar Change
Undergraduate *	Missouri	Semester	None	\$282.00		\$287.90		2.1%	\$5.90
	Nonresident	Semester	None	\$839.30		\$856.90		2.1%	\$17.60
Graduate	Missouri	Semester	None	\$360.00		\$367.60		2.1%	\$7.60
	Nonresident	Semester	None	\$985.80		\$1,006.50		2.1%	\$20.70
Law, JD	Missouri Nonresident	Semester Semester	None None	\$648.20 \$1,233.00		\$661.80 \$1,258.90		2.1% 2.1%	\$13.60 \$25.90
Law, LLM	Missouri	Semester	None	\$728.60		\$743.90		2.1%	\$15.30
	Nonresident	Semester	None	\$1,394.70		\$1,424.00		2.1%	\$29.30
Medicine, MD	Missouri Missouri	M1 & M2 M3 & M4	18 20	\$817.10 \$817.10	\$14,707.60 \$16,342.00	\$866.10 \$866.10	\$15,590.10 \$17,322.50	6.0% 6.0%	\$882.50 \$980.50
	Nonresident	M1 & M2	18	\$1,664.00	\$29,952.10	\$1,763.80	\$31,749.20	6.0%	\$1,797.10
	Nonresident	M3 & M4	20	\$1,664.00	\$33,280.00	\$1,763.80	\$35,276.80	6.0%	
Occupational Therapy	Missouri	Semester	None	n/a		\$550.00		n/a	n/a
MOT	Nonresident	Semester	None	n/a		\$1,106.70		n/a	n/a
Veterinary Medicine,	Missouri	Semester	16	\$762.50	\$12,200.60	\$793.80	\$12,700.80	4.1%	\$500.20
DVM	Nonresident	Semester	16	\$1,846.40	\$29,541.90	\$1,912.80	\$30,605.40	3.6%	\$1,063.50

<sup>\*</sup> Falls under SB389

## UNIVERSITY OF MISSOURI - Columbia Supplemental Course Fees and Other Enrollment Fees Beginning with the 2018 Fall Session May 21, 2018

	2017-201	8 RATES	2018-201	9 RATES		
	Per Credit	Flat	Per Credit	Flat	Percentage	Dollar
SUPPLEMENTAL FEES	<b>Hour Rate</b>	Rate	<b>Hour Rate</b>	Rate	Change	Change
Information Technology Fee *	\$13.49		\$13.77		2.1%	\$0.28
College of Ag, Food and Natural Resources Course Fee	\$52.10		\$53.20		2.1%	\$1.10
College of Arts & Science Course Fee	\$40.00		\$40.80		2.0%	\$0.80
Trulaske College of Business Undergraduate Course Fee	\$92.60		\$94.50		2.1%	\$1.90
Trulaske College of Business Graduate Course Fee	\$108.40		\$110.70		2.1%	\$2.30
Trulaske College of Business Undergraduate Excellence Fee - new	n/a		n/a	\$200.00	n/a	n/a
College of Education Graduate Course Fee - eliminate **	\$43.00		n/a		n/a	n/a
College of Education Course Fee - restructure **	\$50.90		\$52.00		2.2%	\$1.10
College of Engineering Course Fee - restructure ***	\$90.00		\$210.00		133.3%	\$120.00
Engineering Excellence Course Fee - Resident - eliminate ***	\$34.30		n/a		n/a	n/a
Engineering Excellence Course Fee - Non-Resident - eliminate ***	\$80.20		n/a		n/a	n/a
School of Health Professions Course Fee	\$98.10		\$100.20		2.1%	\$2.10
Health Management and Informatics Course Fee	\$32.00		\$40.00		25.0%	\$8.00
School of Journalism Course Fee	\$79.10		\$80.80		2.1%	\$1.70
Sinclair School of Nursing Clinical Nursing Graduate Fee	\$203.10		\$209.20		3.0%	\$6.10
Sinclair School of Nursing Undergraduate Course Fee	\$99.30		\$108.20		9.0%	\$8.90
College of Human Environmental Sciences Course Fee	\$56.80		\$58.00		2.1%	\$1.20
Truman School Course Fee	\$42.40		\$43.30		2.1%	\$0.90
Accountancy Program Fee		\$543.70		\$555.10	2.1%	\$11.40
Medical School Laboratory/Resource Fee		\$787.40		\$811.00	3.0%	\$23.60
Applied Music Fee		\$250.60		\$263.10	5.0%	\$12.50
Graduate Distance Program & Special Delivery Tuition - Minimum	\$360.00		\$367.60		2.1%	\$7.60
Graduate Distance Program & Special Delivery Tuition - Maximum	\$1,750.00		\$1,786.80		2.1%	\$36.80
Undergrad Distance Program & Special Delivery Tuition - Minimum	\$282.00		\$287.90		2.1%	\$5.90
Undergrad Distance Program & Special Delivery Tuition - Maximum	\$839.30		\$856.90		2.1%	\$17.60
Examination Only - Graduate Enrollment (tuition)		\$360.00		\$367.60	2.1%	\$7.60
CE Instructional Fee (for credit) - Minimum	\$282.00		\$287.90		2.1%	\$5.90
CE Instructional Fee (for credit) - Maximum	\$1,250.00		\$1,276.30		2.1%	\$26.30

<sup>\*</sup> Falls under SB389

<sup>\*\*</sup> Education undergraduate and graduate course fees will be restructured into one fee rate. Graduate course fee will be eliminated.

<sup>\*\*\*</sup> Engineering Course Fee will be restructured into one single fee. Excellence Course Fee will be eliminated.

### UNIVERSITY OF MISSOURI - Kansas City Tuition Rates Beginning with the 2018 Fall Session May 21, 2018

TUITION			2017-2018 RATES		2018-201	9 RATES			
Student Level or	Residence	Term	Plateau	Per Credit	Flat	Per Credit	Flat	Percentage	Dollar
Professional Program	Status	Type		Hour Rate	Rate	Hour Rate	Rate	Change	Change
Undergraduate *	Missouri	Semester	None	\$278.00		\$283.80		2.1%	\$5.80
3	Nonresident	Semester	None	\$768.90		\$785.00		2.1%	\$16.10
	Metropolitan	Semester	None	\$278.00		\$283.80		2.1%	\$5.80
	Kansas Rate	Semester	None	n/a		\$283.80		n/a	n/a
	Heartland Rate	Semester	None	n/a		\$425.70		n/a	n/a
Graduate	Missouri	Semester	None	\$377.00		\$384.90		2.1%	\$7.90
	Nonresident	Semester	None	\$973.30		\$993.70		2.1%	\$20.40
	Metropolitan	Semester	None	\$377.00		\$384.90		2.1%	\$7.90
Anesthesia, UMKC	Missouri	Semester	18		\$11,431.70		\$11,671.80	2.1%	\$240.10
MS	Missouri	Summer	18		\$7,621.00		\$7,781.00	2.1%	\$160.00
	Nonresident	Semester	18		\$13,649.60		\$13,936.20	2.1%	\$286.60
	Nonresident	Summer	18		\$9,100.00		\$9,291.10	2.1%	\$191.10
Med Physician Asst	Missouri	Semester	18		\$10,617.70		\$10,840.70	2.1%	\$223.00
MS	Missouri	Summer	18		\$7,078.40		\$7,227.00	2.1%	\$148.60
	Nonresident	Semester	18		\$12,741.20		\$13,008.80	2.1%	\$267.60
	Nonresident	Summer	18		\$8,494.20		\$8,672.60	2.1%	\$178.40
Dentistry, DDS	Missouri	Semester	16	\$986.90	\$15,789.70	\$1,036.20	\$16,579.20	5.0%	\$789.50
	Missouri	Summer	8	\$986.90	\$7,894.80	\$1,036.20	\$8,289.50	5.0%	\$394.70
	Nonresident	Semester	16	\$1,966.80	\$31,468.70	\$2,065.10	\$33,042.10	5.0%	\$1,573.40
	Nonresident	Summer	8	\$1,966.80	\$15,734.40	\$2,065.10	\$16,521.10	5.0%	\$786.70
Dentistry,	Missouri	Semester	14	\$1,069.20	\$14,968.20	\$1,101.20	\$15,417.20	3.0%	\$449.00
Graduate Certificate	Missouri	Summer	7	\$1,069.10	\$7,484.00	\$1,101.20	\$7,708.50	3.0%	\$224.50
and MS	Nonresident	Semester	14	\$2,134.50	\$29,882.50	\$2,198.50	\$30,779.00	3.0%	\$896.50
	Nonresident	Summer	7	\$2,134.50	\$14,941.30	\$2,198.50	\$15,389.50	3.0%	\$448.20
Law, JD	Missouri	Semester	None	\$587.20		\$599.50		2.1%	\$12.30
	Nonresident	Semester	None	\$1,159.20		\$1,183.50		2.1%	\$24.30
Law, LLM	Missouri	Semester	None	\$712.00		\$727.00		2.1%	\$15.00
	Nonresident	Semester	None	\$1,408.90		\$1,438.50		2.1%	\$29.60
Medicine,	Missouri	Semester	16	\$610.10	\$9,761.50	\$622.90	\$9,966.50	2.1%	\$205.00
MD, Years 1 and 2	Missouri	Summer	8	\$610.10	\$4,880.70	\$622.90	\$4,983.20	2.1%	\$102.50
	Regional	Semester	16	\$915.10	\$14,642.20	\$934.40	\$14,949.70	2.1%	\$307.50
	Regional	Summer	8	\$915.10	\$7,321.10	\$934.40	\$7,474.80	2.1%	\$153.70
	Nonresident	Semester	16	\$1,220.20	\$19,522.80	\$1,245.80	\$19,932.80	2.1%	\$410.00
	Nonresident	Summer	8	\$1,220.20	\$9,761.50	\$1,245.80	\$9,966.50	2.1%	\$205.00
Medicine,	Missouri	Semester	18	\$638.20	\$11,487.40	\$651.60	\$11,728.60	2.1%	\$241.20
MD, Years 3 thru 6	Missouri	Summer	12	\$638.20	\$7,658.10	\$651.60	\$7,818.90	2.1%	\$160.80
	Regional Regional	Semester Summer	18 12	\$957.30	\$17,232.00	\$977.40 \$977.50	\$17,593.90	2.1%	\$361.90
	Nonresident	Summer	12	\$957.30 \$1,276.40	\$11,488.10 \$22,974.60	\$977.50	\$11,729.40 \$23,457.10	2.1% 2.1%	\$241.30 \$482.50
	Nonresident	Summer	12	\$1,276.40	\$15,316.50	\$1,303.20	\$15,638.10	2.1%	\$321.60
Pharmacy, Dpharm	Missouri	Semester	15	\$722.10	\$10,831.90	\$758.20	\$11,373.50	5.0%	\$541.60
i namacy, Dpnami	Missouri	Summer	6	\$722.10	\$4,332.70	\$758.20	\$4,549.30	5.0%	\$216.60
	Nonresident	Semester	15	\$1,587.80	\$23,816.50	\$1,667.20	\$25,007.30	5.0%	\$1,190.80
	Nonresident	Summer	6	\$1,587.80	\$9,526.80	\$1,667.20	\$10,003.10	5.0%	\$476.30
Nursing Graduate	Missouri	Semester	None	\$500.00		\$550.00		10.0%	\$50.00
	Nonresident	Semester	None	\$1,042.00		\$1,092.00		4.8%	\$50.00

<sup>\*</sup> Falls under SB389

#### UNIVERSITY OF MISSOURI - Kansas City Supplemental Course Fees and Other Enrollment Fees Beginning with the 2018 Fall Session May 21, 2018

	2017-2018 RATES		2018-2019	9 RATES		
	Per Credit		Per Credit	Flat	Percentage	Dollar
SUPPLEMENTAL FEES	Hour	Flat Rate	Hour Rate	Rate	Change	Change
Information Technology Fee *	\$14.10		\$14.40		2.1%	\$0.30
Counseling Psychology Graduate Course Fee	\$38.40		\$38.40		0.0%	\$0.00
Bloch School Graduate Business Supplemental Fee	\$94.50		\$102.50		8.5%	\$8.00
Bloch School Undergraduate Course Fee	\$63.00		\$71.00		12.7%	\$8.00
Bloch School Public Administration Graduate Course Fee	\$32.70		\$40.70		24.5%	\$8.00
School of Biological Sciences Fee	\$25.00		\$25.00		0.0%	\$0.00
School of Education Course Fee	\$16.90		\$17.30		2.4%	\$0.40
Engineering Course Fee	\$84.00		\$88.20		5.0%	\$4.20
Legal Technology Fee (Law School)	\$8.30		\$8.50		2.4%	\$0.20
Nursing/BHS/BSPH Clinical/Internship Course Fee **	\$202.40		\$215.00		6.2%	\$12.60
A&S Media Studies Lab/Studio Fee	\$33.80		\$34.50		2.1%	\$0.70
A&S Science Lab Fee	\$13.70		\$14.00		2.2%	\$0.30
A&S Studio Arts Fee	\$30.80		\$31.40		1.9%	\$0.60
Online Course Fee	\$45.00		\$45.90		2.0%	\$0.90
Conservatory Undergraduate Program fee	\$44.10		\$45.00		2.0%	\$0.90
Conservatory Graduate Program fee	\$58.80		\$60.00		2.0%	\$1.20
Nursing Simulation Course Fee	\$30.00		\$40.00		33.3%	\$10.00
Social Work Field Graduate Education Fee	\$25.00		\$25.50		2.0%	\$0.50
Graduate eLearning and Special Program Delivery Minimum	\$377.00		\$384.90		2.1%	\$7.90
Graduate eLearning and Special Program Delivery Maximum	\$973.30		\$993.70		2.1%	\$20.40
Examination Only - Graduate Enrollment		\$377.00		\$384.90	2.1%	\$7.90
CE Instructional Fee (for credit) - Minimum	\$278.00		\$283.80		2.1%	\$5.80
CE Instructional Fee (for credit) - Maximum	\$973.30	•	\$993.70	•	2.1%	\$20.40

<sup>\*</sup> Falls under SB389

<sup>\*\*</sup> Expanding fee to Bachelor of Health Sciences (BHS), BS in Public Health (BSPH) internship courses

### MISSOURI UNIVERSITY OF SCIENCE AND TECHNOLOGY

### Tuition Rates Beginning with the 2018 Fall Session May 21, 2018

TUITION				2017-2018 RATES		2018-2019 RAT			
Student Level or	Residence	Term	Plateau	Per Credit	Flat	Per Credit	Flat	Percentage	Dollar
Professional Program	Status	Type		<b>Hour Rate</b>	Rate	Hour Rate	Rate	Change	Change
Undergraduate*	Missouri	Semester	None	\$282.00		\$287.90		2.1%	\$5.90
	Nonresident	Semester	None	\$877.40		\$895.80		2.1%	\$18.40
	International	Semester	None	n/a		\$970.80		n/a	n/a
Graduate	Missouri	Semester	None	\$410.60		\$419.20		2.1%	\$8.60
	Nonresident	Semester	None	\$1,206.30		\$1,231.60		2.1%	\$25.30
	International	Semester	None	n/a		\$1,306.60		n/a	n/a
Business, MBA	Missouri	Semester	None	\$696.40		\$711.00		2.1%	\$14.60
	Nonresident	Semester	None	\$1,268.30		\$1,294.90		2.1%	\$26.60
	International	Semester	None	n/a		\$1,369.90		n/a	n/a

<sup>\*</sup> Falls under SB389

### MISSOURI UNIVERSITY OF SCIENCE AND TECHNOLOGY

### Supplemental Course Fees and Other Enrollment Fees Beginning with the 2018 Fall Session May 21, 2018

	2017-2018	RATES	2018-2019 RAT			
SUPPLEMENTAL FEES	Per Credit Hour Rate	Flat Rate	Per Credit Hour Rate	Flat Rate	Percentage Change	Dollar Change
Information Technology Fee *	\$14.29		\$14.60		2.2%	\$0.31
Engineering and Sciences Course Fee **	\$175.00		\$210.00		20.0%	\$35.00
Business and Information Technology Course Fee **	\$84.00		\$100.00		19.0%	\$16.00
Undergraduate eLearning (distance students only) Minimum	\$282.00		\$287.90		2.1%	\$5.90
Undergraduate eLearning (distance students only) Maximum	\$877.40		\$895.80		2.1%	\$18.40
Graduate eLearning and Special Program Delivery Minimum	\$410.60		\$419.20		2.1%	\$8.60
Graduate eLearning and Special Program Delivery Maximum	\$3,000.00		\$3,000.00		0.0%	\$0.00
Examination Only - Graduate Enrollment		\$410.60		\$419.20	2.1%	\$8.60
CE Instructional Fee (for credit) - Minimum	\$282.00		\$287.90		2.1%	\$5.90
CE Instructional Fee (for credit) - Maximum	\$3,000.00		\$3,000.00		0.0%	\$0.00

<sup>\*</sup> Falls under SB389

- (1) double rate over 3 year span; additional \$35 in FY18, and additional \$35 in FY19
- (2) double rate over 3 year span; additional \$17 in FY18, and additional \$16 in FY 19

<sup>\*\*</sup> Multi-year fee phase in previously approved

### **UNIVERSITY OF MISSOURI - St. Louis**

## Tuition Rates Beginning with the 2018 Fall Session May 21, 2018

TUITION				2017-2018 RATES		2018-2019 RATES			
Student Level or	Residence	Term	Plateau	Per Credit	Flat	Per Credit	Flat	Percentage	Dollar
Professional Program	Status	Type		Hour Rate	Rate	<b>Hour Rate</b>	Rate	Change	Change
Undergraduate*	Missouri	Semester	None	\$342.50		\$349.70		2.1%	\$7.20
	Nonresident	Semester	None	\$910.90		\$930.00		2.1%	\$19.10
	Metropolitan	Semester	None	\$342.50		\$349.70		2.1%	\$7.20
	Illinois	Semester	None	\$342.50		\$349.70		2.1%	\$7.20
Graduate	Missouri	Semester	None	\$466.70		\$476.50		2.1%	\$9.80
	Nonresident	Semester	None	\$1,145.60		\$1,169.70		2.1%	\$24.10
	Metropolitan	Semester	None	\$466.70		\$476.50		2.1%	\$9.80
Optometry, OD	Missouri	Semester	16	\$732.90	\$11,726.40	\$748.30	\$11,972.80	2.1%	\$15.40
	Nonresident	Semester	16	\$1,245.00	\$19,920.00	\$1,260.40	\$20,166.40	1.2%	\$15.40

<sup>\*</sup> Falls under SB389

# UNIVERSITY OF MISSOURI - St. Louis Supplemental Course Fees and Other Enrollment Fees Beginning with the 2018 Fall Session May 21, 2018

	2017-201	2017-2018 RATES		9 RATES		
	Per Credit	Flat	Per Credit	Flat	Percentage	Dollar
SUPPLEMENTAL FEES	<b>Hour Rate</b>	Rate	<b>Hour Rate</b>	Rate	Change	Change
Art History Supplemental Course Fee	\$3.30		\$3.40		3.0%	\$0.10
College of Business Administraton Graduate Course Fee	\$115.00		\$117.40		2.1%	\$2.40
College of Business Administraton Undergraduate Course Fee	\$80.00		\$81.70		2.1%	\$1.70
College of Education Supplemental Course Fee	\$28.00		\$28.60		2.1%	\$0.60
Engineering Course Fee	\$173.40		\$177.00		2.1%	\$3.60
Media & Communications Studies Lab/Studio Course Fee	\$32.00		\$32.70		2.2%	\$0.70
Nursing Undergraduate Course Fee	\$215.60		\$220.10		2.1%	\$4.50
Nursing Graduate Course Fee - phased out *	\$69.80		n/a		n/a	n/a
Clinical Nursing Fee, MS - phased out *	\$193.50		n/a		n/a	n/a
Nursing DNP Fee	\$250.00		\$255.30		2.1%	\$5.30
Online Fee for 100% online courses	\$61.00		\$62.30		2.1%	\$1.30
Online Fee for partially (75%-99%) online courses	\$51.00		\$52.10		2.2%	\$1.10
Online Fee for blended (30%-74%) online courses	\$25.50		\$26.00		2.0%	\$0.50
College of Arts & Sciences Science Lab Fee	\$25.00		\$25.50		2.0%	\$0.50
Arts & Sciences Supplemental Fee **	\$10.20		\$10.40		2.0%	\$0.20
Social Work Supplemental Fee Undergraduate	\$18.00		\$18.40		2.2%	\$0.40
Social Work Supplemental Fee Graduate	\$20.00		\$20.40		2.0%	\$0.40
Studio Arts Fee, UMSL (BFA)	\$35.00		\$35.70		2.0%	\$0.70
Theater and Dance Supplemental Course Fee	\$35.00		\$35.70		2.0%	\$0.70
Applied Music Fee		\$340.00		\$347.10	2.1%	\$7.10
Patients Care Center Supplemental Fee		\$900.00		\$900.00	0.0%	\$0.00
Graduate eLearning and Special Program Delivery Minimum	\$466.70		\$476.50		2.1%	\$9.80
Graduate eLearning and Special Program Delivery Maximum	\$2,000.00		\$2,000.00		0.0%	\$0.00
Examination Only - Graduate Enrollment		\$466.70		\$476.50	2.1%	\$9.80
CE Instructional Fee (for credit) - Minimum	\$342.50		\$349.70		2.1%	\$7.20
CE Instructional Fee (for credit) - Maximum	\$2,000.00	_	\$2,000.00		0.0%	\$0.00

<sup>\*</sup> MSN Program has been phased out

<sup>\*\*</sup> Name change